

Admissibility of structural rules for contraction-free systems of intuitionistic logic

Roy Dyckhoff Sara Negri

March 11, 1998

Abstract

We give a direct proof of admissibility of cut and contraction for the contraction-free sequent calculus **G4ip** for intuitionistic propositional logic and for a corresponding multi-succedent calculus; this proof extends easily in the presence of quantifiers, in contrast to other, indirect, proofs, i.e. those which use induction on sequent weight or appeal to admissibility of rules in other calculi.

1 Introduction

In this work we present a direct proof of admissibility of cut and other structural rules for a certain sequent calculus for intuitionistic logic. This calculus is called **G4i** in [TS], of which we henceforth follow the notation (except for $A \supset B$ in place of $A \rightarrow B$). Several papers ([Dy1], [H1], [H2], [H4], [LSS], [V], [W]) and the book [TS] have shown the admissibility of contraction and cut for **G4ip**, the propositional part of **G4i**, or for its variants. These calculi have (in contrast to the calculi **G1ip**, **G2ip** and **G3ip**) the useful feature that root-first proof search terminates without any loop-detection; this is exploited in various implementations ([BB], [DP], [Dy2], [H4], [Pa], [LWB], [M1], [BSS], [Sto] and [Ten]) and in Pitts' influential work [P] on second-order quantification.

All these proofs of admissibility use inductions on formula weights and on derivation heights: these are unproblematic. But they also use the corresponding results for **G3ip** and an induction on sequent weight (based on the weights of formulae in the sequent): their extension, for extensions of **G4ip**, is therefore problematic, unless the extensions use only rules in which the weight of each premise is less than that of the conclusion. (There are also non-constructive, model-theoretic approaches in [PD], [AF] and [MMO]: however, we prefer constructive reasoning.)

We present here a direct proof (along the lines, using inversion lemmas, exploited by Dragalin [D]) of the admissibility of contraction and cut for **G4ip**. We show how it can be extended when one adds to **G4ip** the rules (Section 8) for first-order syntax (as in [H0]). The proof adapts with little difficulty to the multi-succedent calculus **G4ip'** (Section 7).

Our new proof is *direct*, in that it makes no use of similar metatheorems for **G3ip** and no use of induction on sequent weight. It is also routine: all details can easily be filled in by any reader familiar with the technique in [D]. In [Dy1] the first author wrote that “a direct proof of cut-elimination ... seems difficult”. Now that we have it, we regard the indirect proofs as the difficult ones. The difficulty was in the proof of admissibility of contraction; this is overcome by means of two lemmas, 4.1 and 4.2.

2 Background

Zero-order and first-order formulae A, B, C, D, E are built up as usual: but P and Q range over atomic formulae and \perp is not an atomic formula. In zero-order examples p, q, \dots are proposition variables, i.e. atomic formulae. Γ, Δ and Θ range over multisets of formulae. *Judgments* are of the form $\Gamma \Rightarrow A$. The primitive rules of the calculus **G4ip** are

$$\begin{array}{c}
\frac{}{\Gamma, P \Rightarrow P} \textit{Axiom} \qquad \frac{}{\Gamma, \perp \Rightarrow E} L\perp \\
\\
\frac{\Gamma, A, B \Rightarrow E}{\Gamma, A\&B \Rightarrow E} L\& \qquad \frac{\Gamma \Rightarrow A \quad \Gamma \Rightarrow B}{\Gamma \Rightarrow A\&B} R\& \\
\\
\frac{\Gamma, A \Rightarrow E \quad \Gamma, B \Rightarrow E}{\Gamma, A \vee B \Rightarrow E} LV \qquad \frac{\Gamma \Rightarrow A_i}{\Gamma \Rightarrow A_0 \vee A_1} RV \\
\\
\frac{\Gamma, P, B \Rightarrow E}{\Gamma, P, P\supset B \Rightarrow E} L0\supset \qquad \frac{\Gamma, A \Rightarrow B}{\Gamma \Rightarrow A\supset B} R\supset \\
\\
\frac{\Gamma, C\supset(D\supset B) \Rightarrow E}{\Gamma, (C\&D)\supset B \Rightarrow E} L\&\supset \qquad \frac{\Gamma, C\supset B, D\supset B \Rightarrow E}{\Gamma, (C \vee D)\supset B \Rightarrow E} LV\supset \\
\\
\frac{\Gamma, C, D\supset B \Rightarrow D \quad \Gamma, B \Rightarrow E}{\Gamma, (C\supset D)\supset B \Rightarrow E} L\supset\supset
\end{array}$$

Note that we use a slight variant of the $L\supset\supset$ rule used in [Dy1] and [TS], and that in axioms $\Gamma, P \Rightarrow P$ and rules $L0\supset$ the formula P is atomic. Loosely, we refer to sequents $\Gamma, \perp \Rightarrow E$ as “axioms”. *Derivations* are the labelled trees whose leaves are axioms and whose other nodes match rules: each node contains a judgment and each internal node is labelled by the name of the rule or of the lemma where the rule is shown to be admissible. We use the label *Ind* where appealing to an induction hypothesis.

The *weight* $w(A)$ of a formula A is defined as follows:

$$\begin{aligned}
w(\perp) &= 0, \\
w(P) &= 1 \text{ for any atomic formula } P, \\
w(A\supset B) &= 1 + w(A) + w(B), \\
w(A\&B) &= 2 + w(A) + w(B), \\
w(A \vee B) &= 3 + w(A) + w(B).
\end{aligned}$$

“Lighter” is synonymous with “of lower weight”. We use induction on formula weight rather than on formula size or sequent weight. The *height* of a derivation (using primitive rules) is just its height as a tree; so a tree with one node has height 0. “Height” is undefined for derivations using the non-primitive rules.

Let G be a logical calculus. We recall that a (schematic) rule

$$\frac{S}{S'}$$

in G is *admissible* in G iff for every derivation of an instance of S there is one, of the corresponding instance, of S' . (Similarly for multi-premise rules.)

Definition 2.1 *The rule*

$$\frac{S}{S'}$$

is strongly admissible iff for every n and every derivation of height n of an instance of S there is a derivation of height $\leq n$ of the corresponding instance of S' .

We don't use anywhere the strong admissibility of rules but include some results about strong admissibility for future reference.

Lemma 2.2 *The Weakening rule*

$$\frac{\Gamma \Rightarrow A}{\Gamma, \Gamma' \Rightarrow A} W$$

is strongly admissible.

Proof: Routine induction on the height of the derivation of the premise. \square

3 Basic lemmas

We give here some routine lemmas similar to those established in [D] prior to the proof of admissibility of *Contraction* and not really specific to the “contraction-free” approach of **G4ip**. Our inversion lemmas can be stated as (strong) admissibility of certain rules, converses of the primitive inference rules.

Lemma 3.1 *The following rules are strongly admissible in G4ip:*

1. $\frac{\Gamma, A \& B \Rightarrow E}{\Gamma, A, B \Rightarrow E}$;
2. $\frac{\Gamma \Rightarrow A \& B}{\Gamma \Rightarrow A}$; $\frac{\Gamma \Rightarrow A \& B}{\Gamma \Rightarrow B}$;
3. $\frac{\Gamma, A \vee B \Rightarrow E}{\Gamma, A \Rightarrow E}$; $\frac{\Gamma, A \vee B \Rightarrow E}{\Gamma, B \Rightarrow E}$;
4. $\frac{\Gamma, (C \& D) \supset B \Rightarrow E}{\Gamma, C \supset (D \supset B) \Rightarrow E}$;
5. $\frac{\Gamma, (C \vee D) \supset B \Rightarrow E}{\Gamma, C \supset B, D \supset B \Rightarrow E}$;
6. $\frac{\Gamma, P \supset B \Rightarrow E}{\Gamma, B \Rightarrow E}$;
7. $\frac{\Gamma, (C \supset D) \supset B \Rightarrow E}{\Gamma, B \Rightarrow E}$;
8. $\frac{\Gamma \Rightarrow A \supset B}{\Gamma, A \Rightarrow B}$.

Proof: By induction on the height n of the derivation d of the premise of each item. If $n = 0$ the premise is an axiom and so the conclusion is an axiom. (Sequents of the form $\Gamma, E \Rightarrow E$ are axioms iff $\perp \in \Gamma$ or E is an atom.) If $n > 0$ we distinguish two cases, according to whether the main formula (the one in the premise that does not appear in the conclusion) of the inference is principal or not in the last step of d . If it is principal, then a premise of the last inference gives the conclusion; otherwise, one applies the inductive hypothesis to the premise(s) and then uses the rule again. \square

Use of one of these rules will be indicated by *Inv* in derivation trees. In fact, the rules of **G4ip** are all invertible except for $R\vee$ and $L\supset$; the latter is (partially) invertible w.r.t. the second premise, as seen in item 7 of the lemma.

Lemma 3.2 *Judgments of the following form*

1. $\Gamma, A \Rightarrow A$ (*generalized axiom*)
2. $\Gamma, A, A \supset B \Rightarrow B$ (*modus ponens*)

are derivable in **G4ip**.

Proof: 1. By induction on $w(A)$. If A is \perp or an atomic formula, then $\Gamma, A \Rightarrow A$ is an axiom. If $A = B \& C$, we have the derivation

$$\frac{\frac{\frac{\overline{\Gamma, B, C \Rightarrow B} \text{ Ind} \quad \overline{\Gamma, B, C \Rightarrow C} \text{ Ind}}{\Gamma, B, C \Rightarrow B \& C} R\&}{\Gamma, B \& C \Rightarrow B \& C} L\&}}{\Gamma, B \& C \Rightarrow B \& C} L\&$$

If $A = B \vee C$ we have the derivation

$$\frac{\frac{\overline{\Gamma, B \Rightarrow B} \text{ Ind} \quad \overline{\Gamma, C \Rightarrow C} \text{ Ind}}{\Gamma, B \Rightarrow B \vee C} R\vee_1 \quad \frac{\overline{\Gamma, C \Rightarrow C} \text{ Ind}}{\Gamma, C \Rightarrow B \vee C} R\vee_2}{\Gamma, B \vee C \Rightarrow B \vee C} L\vee}$$

If the outermost connective of A is an implication, we cannot prove the claim without relying on 2, the proof of which, in turn, relies on 1. This can be carried out by a simultaneous induction, but an alternative is to analyze the structure of the antecedent, as follows: If $A = P \supset B$ we have the derivation

$$\frac{\frac{\overline{\Gamma, P, B \Rightarrow B} \text{ Ind}}{\Gamma, P, P \supset B \Rightarrow B} L\supset}{\Gamma, P \supset B \Rightarrow P \supset B} R\supset}$$

For $A = (C \& D) \supset B$ we have the derivation

$$\frac{\frac{\frac{\overline{\Gamma, C \supset (D \supset B) \Rightarrow C \supset (D \supset B)} \text{ Ind} \quad \overline{\Gamma, C \supset (D \supset B), C \Rightarrow D \supset B} \text{ 3.1, 8}}{\Gamma, C \supset (D \supset B), C, D \Rightarrow B} \text{ 3.1, 8}}{\Gamma, (C \& D) \supset B, C, D \Rightarrow B} L\&\supset}{\Gamma, (C \& D) \supset B, C \& D \Rightarrow B} L\&}{\Gamma, (C \& D) \supset B \Rightarrow (C \& D) \supset B} R\supset}$$

where induction applies since $w(C\supset(D\supset B)) < w((C\&D)\supset B)$. For $A = (C\vee D)\supset B$, consider the derivation

$$\frac{\frac{\frac{\Gamma, C\supset B, D\supset B \Rightarrow C\supset B}{\Gamma, C\supset B, D\supset B, C \Rightarrow B} \text{Ind} \quad \frac{\Gamma, C\supset B, D\supset B \Rightarrow D\supset B}{\Gamma, C\supset B, D\supset B, D \Rightarrow B} \text{Ind}}{\Gamma, C\supset B, D\supset B, C\vee D \Rightarrow B} \text{LV} \quad \frac{\Gamma, C\supset B, D\supset B, C\vee D \Rightarrow B}{\Gamma, (C\vee D)\supset B, C\vee D \Rightarrow B} \text{L}\vee\supset}{\Gamma, (C\vee D)\supset B \Rightarrow (C\vee D)\supset B} \text{R}\supset$$

Finally, for $A = (C\supset D)\supset B$, the judgment is derived as follows

$$\frac{\frac{\frac{\Gamma, D\supset B, C\supset D \Rightarrow C\supset D}{\Gamma, D\supset B, C\supset D, C \Rightarrow D} \text{Ind} \quad \frac{\Gamma, B, C\supset D \Rightarrow B}{\Gamma, (C\supset D)\supset B, C\supset D \Rightarrow B} \text{L}\supset\supset}{\Gamma, (C\supset D)\supset B, C\supset D \Rightarrow B} \text{L}\supset\supset}{\Gamma, (C\supset D)\supset B \Rightarrow (C\supset D)\supset B} \text{R}\supset$$

2. By 1, the judgment $\Gamma, A\supset B \Rightarrow A\supset B$ is derivable, and the conclusion follows by invertibility of $R\supset$. \square

4 Other key lemmas

We proceed by showing that a weak version of the $L\supset$ rule of **G3ip** is admissible in **G4ip**. The proof is similar to that of Lemma 4 in [H2] of admissibility of the stronger $L\supset$ rule, with $D\supset B$ in the antecedent of the first premise; as we mention in Section 9, that proof only works if D is atomic, because of an unconsidered case where $D\supset B$ is principal. By leaving the formula $D\supset B$ out of the premise we get a result weaker (in that the premise is stronger) but also stronger (D is unrestricted to being atomic).

Lemma 4.1 *The rule*

$$\frac{\Gamma \Rightarrow D \quad \Gamma, B \Rightarrow E}{\Gamma, D\supset B \Rightarrow E}$$

is admissible in G4ip.

Proof: By induction on the height n of the derivation d of the first premise. If $n = 0$, then the premise is an axiom: if $\perp \in \Gamma$, then the conclusion is an axiom, and if D is an atom, and $D \in \Gamma$, then the conclusion follows by applying $L0\supset$ to the second premise. Now let $n > 0$ and argue by cases.

1. If the last inference of d is by an invertible left rule, apply the corresponding inversion lemma to the right premise, then use the inductive hypothesis and the rule.
2. If the last inference of d is by $R\&$, with $D = D_1\&D_2$, apply the inductive hypothesis to the second premise and obtain $\Gamma, D_2\supset B \Rightarrow E$. Again by the inductive hypothesis, using the first premise, we get $\Gamma, D_1\supset(D_2\supset B) \Rightarrow E$ and the conclusion follows by $L\&\supset$.
3. If the last inference of d is by RV , use the inductive hypothesis, admissibility of weakening and $L\vee\supset$.

4. If the last inference of d is by $R\supset$, with premise $\Gamma, D_1 \Rightarrow D_2$, by admissibility of weakening we obtain $\Gamma, D_2 \supset B, D_1 \Rightarrow D_2$; by $L\supset\supset$ the conclusion $\Gamma, (D_1 \supset D_2) \supset B \Rightarrow E$ follows.
5. Finally, suppose that the last inference of d is by a non-invertible left rule, that is, $L\supset\supset$ with $\Gamma = \Gamma', (F \supset G) \supset H$ and premises $\Gamma', G \supset H, F \Rightarrow G$ and $\Gamma', H \Rightarrow D$. Thus we obtain

$$\frac{\frac{\Gamma', G \supset H, F \Rightarrow G}{\Gamma', G \supset H, F, D \supset B \Rightarrow G} W \quad \frac{\Gamma', H \Rightarrow D \quad \frac{\Gamma', (F \supset G) \supset H, B \Rightarrow E}{\Gamma', H, B \Rightarrow E} Inv}{\Gamma', H, D \supset B \Rightarrow E} Ind}{\Gamma', (F \supset G) \supset H, D \supset B \Rightarrow E} L\supset\supset$$

□

The following lemma constitutes the essential step in the proof of admissibility of contraction.

Lemma 4.2 *The rule*

$$\frac{\Gamma, (C \supset D) \supset B \Rightarrow E}{\Gamma, C, D \supset B, D \supset B \Rightarrow E}$$

*is admissible in **G4ip**.*

Proof: By induction on the height n of the derivation of the premise. For $n = 0$, the premise is an axiom and the conclusion is an axiom. If the last inference is by a right rule or by a left rule with $(C \supset D) \supset B$ non-principal, the induction is straightforward. If the last inference is by $L\supset\supset$ with $(C \supset D) \supset B$ principal, the premises are $\Gamma, C, D \supset B \Rightarrow D$ and $\Gamma, B \Rightarrow E$; we now construct

$$\frac{\Gamma, C, D \supset B \Rightarrow D \quad \frac{\Gamma, B \Rightarrow E}{\Gamma, C, D \supset B, B \Rightarrow E} W}{\Gamma, C, D \supset B, D \supset B \Rightarrow E} Lemma\ 4.1$$

□

The lemma is surprising because the repetition of $D \supset B$ in the conclusion might appear to make contraction-elimination harder rather than easier. However, the key point is that $D \supset B$ is a lighter formula than $(C \supset D) \supset B$.

5 Admissibility of Contraction

Proposition 5.1 *The Contraction rule*

$$\frac{\Gamma, A, A \Rightarrow E}{\Gamma, A \Rightarrow E} Contr$$

*is admissible in **G4ip**.*

Proof: By induction on the weight of the contracted formula A , and, for each weight, on the height n of the derivation d of the premise.

For A atomic or \perp , if $n = 0$, then the premise and the conclusion are both axioms. If $n > 0$, then A is not principal; the conclusion follows by applying induction to the premise(s) and then using the same rule as in the last inference of d .

For compound A , if $n = 0$, then $\perp \in \Gamma$ or $E \in \Gamma$ and the conclusion follows. If $n > 0$ and A is not principal, apply the inductive hypothesis to the premises and then use the rule again. For principal A , if A is $C \& D$, $C \vee D$, $P \supset B$, $(C \& D) \supset B$ or $(C \vee D) \supset B$ we proceed in a uniform way by using an inversion lemma (3.1), contraction on lighter formulae, and then the rule again. The handling of $A = (C \supset D) \supset B$ requires the use of Lemma 4.2: in this case the derivation ends with

$$\frac{\Gamma, D \supset B, (C \supset D) \supset B, C \Rightarrow D \quad \Gamma, (C \supset D) \supset B, B \Rightarrow E}{\Gamma, (C \supset D) \supset B, (C \supset D) \supset B \Rightarrow E}$$

and by the lemma the left premise gives $\Gamma, D \supset B, C, D \supset B, D \supset B, C \Rightarrow D$; thus by applying three contractions, on the lighter formulae C and $D \supset B$, we obtain $\Gamma, D \supset B, C \Rightarrow D$. The right premise gives, by an inversion lemma (3.1) and contraction on B , the sequent $\Gamma, B \Rightarrow E$. By $L \supset$ the conclusion $\Gamma, A \Rightarrow E$ follows. \square

Strictly speaking, uses of the *Contr* rule in the above proof are illegitimate, since the proof is for the calculus in which *Contr* is not primitive. We should interpret the above proposition just to mean that any **G4ip** derivation of the premise can be transformed to a **G4ip** derivation of the conclusion: the contractions apparently used in the results of transformation are smaller and thus can in turn be transformed, beginning if necessary with any topmost one. Similar remarks apply later to the proof of admissibility of *Cut*.

As a consequence of admissibility of contraction for **G4ip**, we obtain a direct proof of admissibility in **G4ip** of the $L \supset$ rule from **G3ip**:

Proposition 5.2 *The rule*

$$\frac{\Gamma, A \supset B \Rightarrow A \quad \Gamma, B \Rightarrow E}{\Gamma, A \supset B \Rightarrow E} L \supset$$

is admissible in G4ip.

Proof: Weaken the second premise with $A \supset B$, use Lemma 4.1 and contract $A \supset B$. \square

It follows that all the rules of **G3ip** are admissible in **G4ip**. The converse is easy (since *Cut* is admissible in **G3ip**); so the two calculi are equivalent. As a consequence *Cut* is indirectly proved to be admissible in **G4ip**, but we will argue for admissibility of *Cut* directly.

In Lemma 3.1 partial invertibility of the $L \supset$ rule has been proved (as strong admissibility) only for antecedent A of the form P or $C \supset D$. As a consequence of admissibility of contraction, we are now able to prove the following for arbitrary antecedent A :

Proposition 5.3 *The rule*

$$\frac{\Gamma, A \supset B \Rightarrow E}{\Gamma, B \Rightarrow E}$$

is admissible in G4ip.

Proof: By induction on the weight of A with subinduction on the height n of the derivation d of $\Gamma, A \supset B \Rightarrow E$. For any A , if the premise is an axiom, also the conclusion is an axiom, so we suppose $n > 0$. If A is atomic, the conclusion follows by Lemma 3.1. If A is \perp , then $\perp \supset B$ is not principal in the last rule of d , so the conclusion follows by applying induction to the premise(s) of the rule and the rule again.

If A is compound and $A \supset B$ is not principal in the last rule of d , we argue as above. If $A \supset B$ is principal, the only cases yet to be considered are those with $A = C \& D$ and $A = C \vee D$. In the first case the premise of the last rule of D is $\Gamma, C \supset (D \supset B) \Rightarrow E$. By induction we get a derivation of $\Gamma, D \supset B \Rightarrow E$, and by induction again, since D is lighter than A , we obtain the conclusion. In the second case the premise is $\Gamma, C \supset B, D \supset B \Rightarrow E$, and we argue in a similar way to obtain a derivation of $\Gamma, B, B \Rightarrow E$. The conclusion then follows by admissibility of contraction. \square

This proof does not extend to the quantifier case in Section 8; so, rather than using this lemma in the next section we argue directly, using induction and cut on lighter formulae.

6 Admissibility of Cut

Our proof is based on that in [D]; see also [Dy3] for details.

Theorem 6.1 *The Cut rule*

$$\frac{\Gamma \Rightarrow A \quad \Gamma', A \Rightarrow E}{\Gamma, \Gamma' \Rightarrow E} \textit{Cut}$$

is admissible in G4ip.

Proof: By induction on the weight of A , with a subsidiary induction on the sum of the heights of the derivations of $\Gamma \Rightarrow A$ and of $\Gamma', A \Rightarrow E$.

There are four cases:

1. $\Gamma \Rightarrow A$ or $\Gamma', A \Rightarrow E$ is an axiom;
2. Neither premise is an axiom and A is not principal in the left premise;
3. Neither premise is an axiom and A is principal in the left premise but not in the right premise;
4. A is principal in both premises.

The first and second cases are dealt with as in [D]; so is the third case for all rules, except when the derivation of the right premise ends in $L0 \supset$; and so is the fourth case for $A = B \& C$ and $A = B \vee C$. In the third case, we can permute (A being principal in the left premise, it cannot be atomic)

$$\frac{\Gamma \Rightarrow A \quad \frac{A, P, B, \Gamma'' \Rightarrow E}{A, P, P \supset B, \Gamma'' \Rightarrow E} L0 \supset}{\Gamma, P, P \supset B, \Gamma'' \Rightarrow E} \textit{Cut}$$

to

$$\frac{\Gamma \Rightarrow A \quad \frac{A, P, B, \Gamma'' \Rightarrow E}{\Gamma, \Gamma'', P, B \Rightarrow E} \textit{Cut}}{\Gamma, \Gamma'', P, P \supset B \Rightarrow E} L0 \supset$$

The subcase of implication in case 4 splits into four sub-sub-cases:

1. $A = P \supset B$: The derivation ends as follows, where $\Gamma' = \Gamma'', P$:

$$\frac{\frac{\Gamma, P \Rightarrow B}{\Gamma \Rightarrow P \supset B} R\supset \quad \frac{\Gamma'', P, B \Rightarrow E}{\Gamma', P \supset B \Rightarrow E} L0\supset}{\Gamma, \Gamma' \Rightarrow E} Cut$$

We transform this to

$$\frac{\frac{\Gamma, P \Rightarrow B \quad \Gamma'', P, B \Rightarrow E}{\Gamma, \Gamma'', P, P \Rightarrow E} Cut}{\Gamma, \Gamma' \Rightarrow E} Contr$$

where the cut formula B is lighter than $P \supset B$.

2. $A = (C \& D) \supset B$: The derivation ends as follows:

$$\frac{\frac{\Gamma, C \& D \Rightarrow B}{\Gamma \Rightarrow (C \& D) \supset B} R\supset \quad \frac{\Gamma', C \supset (D \supset B) \Rightarrow E}{\Gamma', (C \& D) \supset B \Rightarrow E} L\&\supset}{\Gamma, \Gamma' \Rightarrow E} Cut$$

We transform this to to

$$\frac{\frac{\frac{\Gamma, C \& D \Rightarrow B}{\Gamma, C, D \Rightarrow B} Inv}{\Gamma, C \Rightarrow D \supset B} R\supset}{\Gamma \Rightarrow C \supset (D \supset B)} R\supset \quad \frac{\Gamma', C \supset (D \supset B) \Rightarrow E}{\Gamma, \Gamma' \Rightarrow E} Cut$$

where the cut formula $C \supset (D \supset B)$ is lighter than $(C \& D) \supset B$.

3. $A = (C \vee D) \supset B$: Similar to the previous cases, using the inversion lemma for $L\vee$, cut (twice) on lighter formulae and contractions on Γ .

4. $A = (C \supset D) \supset B$: The derivation ends with

$$\frac{\frac{\Gamma, C \supset D \Rightarrow B}{\Gamma \Rightarrow (C \supset D) \supset B} R\supset \quad \frac{\Gamma', D \supset B, C \Rightarrow D \quad \Gamma', B \Rightarrow E}{\Gamma', (C \supset D) \supset B \Rightarrow E} L\supset\supset}{\Gamma, \Gamma' \Rightarrow E} Cut$$

and is transformed into the following derivation with four cuts on the lighter formulae $D \supset B$, $C \supset D$ (twice) and B :

$$\frac{\frac{\frac{\overline{D, C \Rightarrow D}^{3.2}}{D \Rightarrow C \supset D} \quad \Gamma, C \supset D \Rightarrow B}{\Gamma, D \Rightarrow B} Cut}{\Gamma \Rightarrow D \supset B} R\supset \quad \frac{\Gamma', D \supset B, C \Rightarrow D}{\Gamma, \Gamma', C \Rightarrow D} Cut}{\frac{\Gamma, \Gamma', C \Rightarrow D}{\Gamma, \Gamma' \Rightarrow C \supset D} R\supset \quad \frac{\Gamma, C \supset D \Rightarrow B}{\Gamma, \Gamma' \Rightarrow B} Cut \quad \Gamma', B \Rightarrow E} Cut}{\frac{\Gamma, \Gamma', \Gamma' \Rightarrow E}{\Gamma, \Gamma' \Rightarrow E} Contr} Cut$$

□

We remark that in order to deal with the last case in the above proof we could have used Proposition 5.3 in order to obtain $\Gamma, D \Rightarrow B$ from $\Gamma, C \supset D \Rightarrow B$. But, as noted above, the

proof of that proposition does not extend to the quantifier case. We could also replace the earlier uses of *Inv* by further cuts.

Corollary 6.2 *All instances of the Cut rule in a derivation in $\mathbf{G4ip}+\mathbf{Cut}$ are eliminable.*

Proof: As usual, by induction on the number of instances, selecting for elimination any topmost cut instance. \square

Of course, this argument is already needed in the proof of the theorem.

7 Extension with multiple succedents

We consider here the modifications needed for a multi-succedent calculus $\mathbf{G4ip}'$, along the lines of the calculus GHPC of [D]. The primitive rules are modified to allow an arbitrary multiset of formulae in the succedent. Sequents $\Gamma \Rightarrow \Delta$ in which Γ and Δ have an atomic formula in common are axioms, as are those with $\perp \in \Gamma$. The two *RV* rules merge into the single rule

$$\frac{\Gamma \Rightarrow A, B, \Delta}{\Gamma \Rightarrow A \vee B, \Delta} \text{RV}$$

and the first premise of the *L \supset* rule has a single succedent (following [D] rather than 3.4.9D of [TS]). Here are the rules:

$$\begin{array}{ll} \frac{}{\Gamma, P \Rightarrow P, \Delta} \text{Axiom} & \frac{}{\Gamma, \perp \Rightarrow \Delta} \text{L}\perp \\ \frac{\Gamma, A, B \Rightarrow \Delta}{\Gamma, A \& B \Rightarrow \Delta} \text{L}\& & \frac{\Gamma \Rightarrow A, \Delta \quad \Gamma \Rightarrow B, \Delta}{\Gamma \Rightarrow A \& B, \Delta} \text{R}\& \\ \frac{\Gamma, A \Rightarrow \Delta \quad \Gamma, B \Rightarrow \Delta}{\Gamma, A \vee B \Rightarrow \Delta} \text{L}\vee & \frac{\Gamma \Rightarrow A, B, \Delta}{\Gamma \Rightarrow A \vee B, \Delta} \text{RV} \\ \frac{\Gamma, P, B \Rightarrow \Delta}{\Gamma, P, P \supset B \Rightarrow \Delta} \text{L}0\supset & \frac{\Gamma, A \Rightarrow B}{\Gamma \Rightarrow A \supset B, \Delta} \text{R}\supset \\ \frac{\Gamma, C \supset (D \supset B) \Rightarrow \Delta}{\Gamma, (C \& D) \supset B \Rightarrow \Delta} \text{L}\&\supset & \frac{\Gamma, C \supset B, D \supset B \Rightarrow \Delta}{\Gamma, (C \vee D) \supset B \Rightarrow \Delta} \text{L}\vee\supset \\ \frac{\Gamma, C, D \supset B \Rightarrow D \quad \Gamma, B \Rightarrow \Delta}{\Gamma, (C \supset D) \supset B \Rightarrow \Delta} \text{L}\supset\supset & \end{array}$$

The basic lemmas of Section 3 are still true, *mutatis mutandis*, except that *R \supset* is no longer invertible. There are also new inversion lemmas for the *R $\&$* and *RV* rules, needed because they have no copy of the principal formula in the premise(s). We also have:

Lemma 7.1 *Judgments of the following form*

1. $\Gamma, A \Rightarrow A, \Delta$ (*generalized axiom*)
2. $\Gamma, A, A \supset B \Rightarrow B, \Delta$ (*modus ponens*)

are derivable in $\mathbf{G4ip}'$.

Proof: Roughly as before. Note that in the proof we need to use the invertibility of $R\supset$ only in the case where Δ is empty. \square

Proposition 7.2 *The Contraction-Right rule*

$$\frac{\Gamma \Rightarrow A, A, \Delta}{\Gamma \Rightarrow A, \Delta} \text{Contr-}R$$

is admissible in $\mathbf{G4ip}'$.

Proof: Consider first the case where $A = A_1 \supset A_2$ is introduced by $R\supset$, with premise $\Gamma, A_1 \Rightarrow A_2$: from this we get $\Gamma \Rightarrow A, \Delta$ by $R\supset$. The other cases use induction and inversion lemmas as before. \square

Lemma 7.3 *The rule*

$$\frac{\Gamma \Rightarrow D, \Theta \quad \Gamma, B \Rightarrow \Delta}{\Gamma, D \supset B \Rightarrow \Theta, \Delta}$$

is admissible in $\mathbf{G4ip}'$.

Proof: By induction first on the weight of D and then on the height n of the derivation d of the first premise. Let d' be the derivation of the second premise.

For $n = 0$, the first premise is an axiom: if $\perp \in \Gamma$ or if Γ and Θ have an atom in common, then the conclusion is an axiom; and if D is an atom in Γ , use $L0\supset$ on d' and weaken with Θ .

For $n > 0$, argue by cases:

1. If d ends with an invertible left rule $L*$, we invert d' , use the inductive hypothesis and then $L*$.
2. If d ends with $R\&$, there are two cases:
 - (a) $D = D_1 \& D_2$ is principal, with premises $\Gamma \Rightarrow D_1, \Theta$ and $\Gamma \Rightarrow D_2, \Theta$: apply the inductive hypothesis to $\Gamma \Rightarrow D_2, \Theta$ and obtain $\Gamma, D_2 \supset B \Rightarrow \Theta, \Delta$. Again by the inductive hypothesis, using $\Gamma \Rightarrow D_1, \Theta$, we get $\Gamma, D_1 \supset (D_2 \supset B) \Rightarrow \Theta, \Theta, \Delta$ and the conclusion follows by $\text{Contr-}R$ and $L\&\supset$.
 - (b) D is non-principal, with premises $\Gamma \Rightarrow D, E_1, \Theta'$ and $\Gamma \Rightarrow D, E_2, \Theta''$: use induction (twice) and then $R\&$.
3. If d ends with $R\vee$, there are two cases:
 - (a) $D = D_1 \vee D_2$ is principal, with premise $\Gamma \Rightarrow D_1, D_2, \Delta$. By inductive hypothesis we get $\Gamma, D_1 \supset B \Rightarrow D_2, \Theta, \Delta$. By another use of the inductive hypothesis we get $\Gamma, D_1 \supset B, D_2 \supset B \Rightarrow \Theta, \Delta, \Delta$, which we follow with a contraction on the right. (It is here that, in contrast to the single-succedent case, we are forced to use induction on the weight of D .) Then we use $L\vee\supset$.
 - (b) D is not principal: use the inductive hypothesis and then $R\vee$.
4. If d ends with $R\supset$, there are two cases:
 - (a) $D = D_1 \supset D_2$ is principal, with premise $\Gamma, D_1 \Rightarrow D_2$. Weakening with $D_2 \supset B$ we obtain $\Gamma, D_2 \supset B, D_1 \Rightarrow D_2$; by $L\supset$ the conclusion $\Gamma, (D_1 \supset D_2) \supset B \Rightarrow \Delta$ follows. Now weaken with Θ .

(b) D is not principal; then $\Gamma, E_1 \Rightarrow E_2$ for some $E_1 \supset E_2$ in Θ . So $\Gamma \Rightarrow E_1 \supset E_2$: now weaken with $D \supset B, \Delta$ and the rest of Θ .

5. If d ends with $L \supset \supset$, with $(F \supset G) \supset H$ principal and premises $\Gamma', G \supset H, F \Rightarrow G$ and $\Gamma', H \Rightarrow D, \Theta$ for $\Gamma = \Gamma', (F \supset G) \supset H$, we obtain

$$\frac{\frac{\Gamma', G \supset H, F \Rightarrow G}{\Gamma', G \supset H, F, D \supset B \Rightarrow G} W \quad \frac{\frac{\Gamma', H \Rightarrow D, \Theta \quad \frac{\Gamma', (F \supset G) \supset H, B \Rightarrow \Delta}{\Gamma', H, B \Rightarrow \Delta} Inv}{\Gamma', H, D \supset B \Rightarrow \Theta, \Delta} Ind}{\Gamma', (F \supset G) \supset H, D \supset B \Rightarrow \Theta, \Delta} L \supset \supset}$$

□

Lemma 7.4 *The rule*

$$\frac{\Gamma \Rightarrow D \quad \Gamma, B \Rightarrow \Delta}{\Gamma, D \supset B \Rightarrow \Delta}$$

is admissible in $\mathbf{G4ip}'$.

Proof: By Lemma 7.3, with Θ empty. □

Lemma 7.5 *The rule*

$$\frac{\Gamma, (C \supset D) \supset B \Rightarrow \Delta}{\Gamma, C, D \supset B, D \supset B \Rightarrow \Delta}$$

is admissible in $\mathbf{G4ip}'$.

Proof: By induction on the height n of the derivation d of the premise. For $n = 0$, the premise is an axiom and so the conclusion is an axiom. If the last inference is by a right rule or by a left rule with $(C \supset D) \supset B$ non-principal, the induction is straightforward. If the last inference is by $L \supset \supset$ with $(C \supset D) \supset B$ principal, the premises are $\Gamma, C, D \supset B \Rightarrow D$ and $\Gamma, B \Rightarrow \Delta$; we now construct

$$\frac{\Gamma, C, D \supset B \Rightarrow D \quad \frac{\Gamma, B \Rightarrow \Delta}{\Gamma, C, D \supset B, B \Rightarrow \Delta} W}{\Gamma, C, D \supset B, D \supset B \Rightarrow \Delta} \text{Lemma 7.4}$$

□

Proposition 7.6 *The Contraction-Left rule*

$$\frac{\Gamma, A, A \Rightarrow \Delta}{\Gamma, A \Rightarrow \Delta} \text{Contr-L}$$

is admissible in $\mathbf{G4ip}'$.

Proof: By induction on the weight of the contracted formula A , and, for each weight, on the height n of the derivation d of the premise. For A atomic or \perp , if $n = 0$, then the premise and so also the conclusion are both axioms. If $n > 0$, then A is not principal in the premise; the conclusion follows by applying the inductive hypothesis to the premise(s) of the last step and then using the same rule as in the last inference of d .

For compound A , if $n = 0$, then $\perp \in \Gamma$ or Γ meets Δ in an atom and the conclusion follows. If $n > 0$ and A is not principal, we apply the inductive hypothesis to the premises and then use the rule again. For principal A , if A is $C \& D$, $C \vee D$, $P \supset B$, $(C \& D) \supset B$ or $(C \vee D) \supset B$ we proceed in a uniform way by using an inversion lemma, contraction on lighter formulae, and then the rule again. For $A = (C \supset D) \supset B$ the derivation ends with

$$\frac{\Gamma, D \supset B, (C \supset D) \supset B, C \Rightarrow D \quad \Gamma, (C \supset D) \supset B, B \Rightarrow \Delta}{\Gamma, (C \supset D) \supset B, (C \supset D) \supset B \Rightarrow \Delta}$$

and by Lemma 7.5 the left premise gives $\Gamma, D \supset B, C, D \supset B, D \supset B, C \Rightarrow D$ and thus by applying three contractions, on the lighter formulae C and $D \supset B$, we obtain $\Gamma, D \supset B, C \Rightarrow D$. The right premise gives, by an inversion lemma and contraction on B , the sequent $\Gamma, B \Rightarrow E$. By $L \supset$ the conclusion $\Gamma, A \Rightarrow \Delta$ follows. \square

Proposition 7.7 *The rule*

$$\frac{\Gamma, A \supset B \Rightarrow A \quad \Gamma, B \Rightarrow \Delta}{\Gamma, A \supset B \Rightarrow \Delta}$$

is admissible in $\mathbf{G4ip}'$.

Proof: By weakening the second premise with $A \supset B$, Lemma 7.4 and *Contr-L*. \square

It follows that all the rules of $\mathbf{G3ip}'$ are admissible in $\mathbf{G4ip}'$. The converse is easy (since *Cut* is admissible in $\mathbf{G3ip}'$); so the two calculi are equivalent: but we do not use this in the proof of Theorem 7.8.

Theorem 7.8 *The Cut rule*

$$\frac{\Gamma \Rightarrow A, \Delta \quad \Gamma', A \Rightarrow \Delta'}{\Gamma, \Gamma' \Rightarrow \Delta, \Delta'} \text{Cut}$$

is admissible in $\mathbf{G4ip}'$.

Proof: By induction on the weight of A , with subsidiary inductions on the sum of the heights of the derivation of $\Gamma \Rightarrow A, \Delta$ and of the derivation of $\Gamma', A \Rightarrow \Delta'$. There are four cases:

1. At least one premise is an axiom;
2. Neither premise is an axiom and A is not principal in the first premise;
3. Neither premise is an axiom and A is principal in only the first premise;
4. Neither premise is an axiom and A is principal in both premises.

The first three cases are dealt with as in [D], as well as the fourth case for $A = B \& C$ and $A = B \vee C$. For example, in case 3, with $A = B \supset C$ and $\Gamma = \Gamma'', (F \supset G) \supset H$,

$$\frac{\frac{\Gamma, B \Rightarrow C}{\Gamma \Rightarrow A, \Delta} R \supset \quad \frac{A, \Gamma'', F, G \supset H \Rightarrow G \quad A, \Gamma'', H \Rightarrow \Delta'}{A, \Gamma'', (F \supset G) \supset H \Rightarrow \Delta'} L \supset}{\Gamma, \Gamma'', (F \supset G) \supset H \Rightarrow \Delta, \Delta'} \text{Cut}$$

is transformed to

$$\frac{\frac{\frac{\Gamma, B \Rightarrow C}{\Gamma \Rightarrow A} R\supset \quad A, \Gamma'', F, G \supset H \Rightarrow G}{\Gamma, \Gamma'', F, G \supset H \Rightarrow G} Cut \quad \frac{\frac{\Gamma, B \Rightarrow C}{\Gamma \Rightarrow A} R\supset \quad A, \Gamma'', H \Rightarrow \Delta'}{\Gamma, \Gamma'', H \Rightarrow \Delta'} Cut}{\frac{\Gamma, \Gamma'', (F \supset G) \supset H \Rightarrow \Delta'}{\Gamma, \Gamma'', (F \supset G) \supset H \Rightarrow \Delta, \Delta'} Weak-R} L\supset\supset$$

In case 4, the subcase of implication splits into four further subcases:

1. $A = P \supset B$: The derivation ends as follows, where $\Gamma' = \Gamma'', P$:

$$\frac{\frac{\Gamma, P \Rightarrow B}{\Gamma \Rightarrow P \supset B, \Delta} R\supset \quad \frac{\Gamma'', P, B \Rightarrow \Delta'}{\Gamma', P \supset B \Rightarrow \Delta'} L\supset\supset}{\Gamma, \Gamma' \Rightarrow \Delta, \Delta'} Cut$$

We transform this to

$$\frac{\frac{\frac{\Gamma, P \Rightarrow B \quad \Gamma'', P, B \Rightarrow \Delta'}{\Gamma, \Gamma'', P, P \Rightarrow \Delta'} Cut}{\Gamma, \Gamma' \Rightarrow \Delta'} Contr-L}{\Gamma, \Gamma' \Rightarrow \Delta, \Delta'} Weak-R$$

where the cut formula B is lighter than $P \supset B$.

2. $A = (C \& D) \supset B$: The derivation ends as follows:

$$\frac{\frac{\frac{\Gamma, C \& D \Rightarrow B}{\Gamma \Rightarrow (C \& D) \supset B, \Delta} R\supset \quad \frac{\Gamma', C \supset (D \supset B) \Rightarrow \Delta'}{\Gamma', (C \& D) \supset B \Rightarrow \Delta'} L\&\supset}{\Gamma, \Gamma' \Rightarrow \Delta, \Delta'} Cut$$

We transform this to to

$$\frac{\frac{\frac{\frac{\Gamma, C \& D \Rightarrow B}{\Gamma, C, D \Rightarrow B} Inv}{\Gamma, C \Rightarrow D \supset B} R\supset}{\Gamma \Rightarrow C \supset (D \supset B), \Delta} R\supset \quad \frac{\Gamma', C \supset (D \supset B) \Rightarrow \Delta'}{\Gamma, \Gamma' \Rightarrow \Delta, \Delta'} Cut$$

where the cut formula $C \supset (D \supset B)$ is lighter than $(C \& D) \supset B$.

3. $A = (C \vee D) \supset B$: Similar to the previous cases, using the inversion lemma for $L\vee$, $R\supset$, Cut (twice) on lighter formulae and left contractions on Γ .

4. $A = (C \supset D) \supset B$: The derivation ends with

$$\frac{\frac{\frac{\Gamma, C \supset D \Rightarrow B}{\Gamma \Rightarrow (C \supset D) \supset B, \Delta} R\supset \quad \frac{\Gamma', D \supset B, C \Rightarrow D \quad \Gamma', B \Rightarrow \Delta'}{\Gamma', (C \supset D) \supset B \Rightarrow \Delta'} L\supset\supset}{\Gamma, \Gamma' \Rightarrow \Delta, \Delta'} Cut$$

and is transformed into the following derivation with four cuts on the lighter formulae $C \supset D$, $D \supset B$ and B :

$$\begin{array}{c}
\frac{}{D, C \Rightarrow D} \text{7.1} \\
\frac{D \Rightarrow C \supset D \quad \Gamma, C \supset D \Rightarrow B}{\Gamma, D \Rightarrow B} \text{Cut} \\
\frac{\Gamma, D \Rightarrow B}{\Gamma \Rightarrow D \supset B} R\supset \\
\frac{\Gamma, D \supset B, C \Rightarrow D}{\Gamma, \Gamma', C \Rightarrow D} \text{Cut} \\
\frac{\Gamma, \Gamma', C \Rightarrow D}{\Gamma, \Gamma' \Rightarrow C \supset D} R\supset \\
\frac{\Gamma, C \supset D \Rightarrow B}{\Gamma, \Gamma, \Gamma' \Rightarrow B} \text{Cut} \\
\frac{\Gamma, \Gamma, \Gamma' \Rightarrow B \quad \Gamma', B \Rightarrow \Delta'}{\Gamma, \Gamma, \Gamma', \Gamma' \Rightarrow \Delta'} \text{Cut} \\
\frac{\Gamma, \Gamma, \Gamma', \Gamma' \Rightarrow \Delta'}{\Gamma, \Gamma' \Rightarrow \Delta, \Delta'} \text{Contr, W}
\end{array}$$

□

Note again that we could have used more cuts in place of the appeal to *Inv*.

Following [D], we have chosen a particular form of the $L\supset\supset$ rule without the succedent of the conclusion appearing in the first premise. There is a possible variant, summed up in

Proposition 7.9 *The rule $L\supset\supset''$*

$$\frac{D \supset B, \Gamma \Rightarrow C \supset D, \Delta \quad B, \Gamma \Rightarrow \Delta}{(C \supset D) \supset B, \Gamma \Rightarrow \Delta} L\supset\supset''$$

is admissible in $\mathbf{G4ip}'$.

Proof: In $\mathbf{G4ip}' + \text{Cut}$ we have

$$\frac{\frac{(C \supset D) \supset B, C \supset D \Rightarrow B \quad B, \Gamma \Rightarrow \Delta}{(C \supset D) \supset B, C \supset D, \Gamma \Rightarrow \Delta} \text{Cut} \quad \frac{D \supset B, \Gamma \Rightarrow C \supset D, \Delta}{(C \supset D) \supset B \Rightarrow D \supset B}}{\frac{D \supset B, (C \supset D) \supset B, \Gamma, \Gamma \Rightarrow \Delta, \Delta}{(C \supset D) \supset B, (C \supset D) \supset B, \Gamma, \Gamma \Rightarrow \Delta, \Delta} \text{Cut}} \text{Contr}$$

from which the cuts and contractions can now be eliminated. The two unjustified premises are easily derived using *Cut*, *R* \supset and Lemma 7.1. □

Corollary 7.10 *$\mathbf{G4ip}'$ is equivalent to $\mathbf{G4ip}''$, the calculus with the rules of $\mathbf{G4ip}'$ except for $L\supset\supset''$ in place of $L\supset\supset$.*

Proof: By the proposition, every rule of $\mathbf{G4ip}''$ is admissible in $\mathbf{G4ip}'$. Conversely, it is easy to see that $L\supset\supset$ is admissible in $\mathbf{G4ip}''$. □

Example: The rule

$$\frac{C, D \supset B, \Gamma \Rightarrow D, \Delta \quad B, \Gamma \Rightarrow \Delta}{(C \supset D) \supset B, \Gamma \Rightarrow \Delta} L\supset\supset'''$$

is not admissible in $\mathbf{G4ip}'$, by consideration of the non-derivable sequent $(p \supset q) \supset r, r \supset p \Rightarrow p$.

8 Extension with quantifiers

We consider the extension **G4i** of **G4ip** obtained by adding the quantifiers. Quantified formulae are weighted by $w(\forall xA) := 1 + w(A)$ and $w(\exists xA) := 1 + w(A)$. Besides the usual rules

$$\frac{\Gamma, \forall xAx, At \Rightarrow E}{\Gamma, \forall xAx \Rightarrow E} L\forall \quad \frac{\Gamma \Rightarrow Ay}{\Gamma \Rightarrow \forall xAx} R\forall$$

$$\frac{\Gamma, Ay \Rightarrow E}{\Gamma, \exists xAx \Rightarrow E} L\exists \quad \frac{\Gamma \Rightarrow At}{\Gamma \Rightarrow \exists xAx} R\exists$$

for \forall and \exists we have the rules for the refinement of the $L\supset$ rule in the cases where the antecedent of the principal formula is quantified:

$$\frac{\Gamma, \forall xAx \supset B \Rightarrow \forall xAx \quad \Gamma, B \Rightarrow E}{\Gamma, \forall xAx \supset B \Rightarrow E} L\forall\supset \quad \frac{\Gamma, \forall x(Ax \supset B) \Rightarrow E}{\Gamma, \exists xAx \supset B \Rightarrow E} L\exists\supset$$

The usual restrictions (cf. [D]) on variables apply for $R\forall$ and $L\exists$.

In order to extend admissibility of contraction of **G4ip** to **G4i** we need the inversion lemmas for each left rule that does not duplicate its principal formula into the premise(s).

Lemma 8.1 *The following rules are strongly admissible in **G4i**:*

1. $\frac{\Gamma, (\forall xAx) \supset B \Rightarrow E}{\Gamma, B \Rightarrow E}$;
2. $\frac{\Gamma, \exists xAx \supset B \Rightarrow E}{\Gamma, \forall x(Ax \supset B) \Rightarrow E}$;
3. $\frac{\Gamma, \exists xAx \Rightarrow E}{\Gamma, At \Rightarrow E}$

Proof: Routine. \square

Lemma 8.2 *Judgments of the following form*

1. $\Gamma, A \Rightarrow A$ (*generalized axiom*)
2. $\Gamma, A, A \supset B \Rightarrow B$ (*modus ponens*)

*are derivable in **G4i**.*

Proof: 1. Following the proof of Lemma 3.2, we consider the extra cases with A of the form $\forall xGx$, $\exists xGx$, $\forall xGx \supset C$ and $\exists xGx \supset C$: By induction we have $\Gamma, Gx \Rightarrow Gx$ (choosing x not free in Γ), from which the conclusions $\Gamma, \forall xGx \Rightarrow \forall xGx$ and $\Gamma, \exists xGx \Rightarrow \exists xGx$ follow by obvious logical steps. For $A = \forall xGx \supset C$ we have the derivation

$$\frac{\frac{\Gamma, \forall xGx \supset C, \forall xGx \Rightarrow \forall xGx}{\Gamma, \forall xGx \supset C, \forall xGx \Rightarrow C} Ind \quad \frac{\Gamma, C, \forall xGx \Rightarrow C}{\Gamma, \forall xGx \supset C, \forall xGx \Rightarrow C} Ind}{\Gamma, \forall xGx \supset C \Rightarrow \forall xGx \supset C} L\forall\supset R\supset$$

and for $A = \exists xGx \supset C$ we have the derivation (choosing x not free in Γ, C)

$$\frac{\frac{\frac{\frac{\Gamma, \forall x(Gx \supset C), Gx \supset C \Rightarrow Gx \supset C}{\Gamma, \forall x(Gx \supset C), Gx \supset C, Gx \Rightarrow C} \text{Ind}}{\Gamma, \forall x(Gx \supset C), Gx \supset C, Gx \Rightarrow C} \text{3.1, 8}}{\Gamma, \forall x(Gx \supset C), Gx \Rightarrow C} \text{L}\forall}{\frac{\frac{\Gamma, \forall x(Gx \supset C), \exists xGx \Rightarrow C}{\Gamma, \forall x(Gx \supset C), \exists xGx \Rightarrow C} \text{L}\exists}}{\frac{\frac{\Gamma, \exists xGx \supset C, \exists xGx \Rightarrow C}{\Gamma, \exists xGx \supset C, \exists xGx \Rightarrow C} \text{L}\exists \supset}}{\Gamma, \exists xGx \supset C \Rightarrow \exists xGx \supset C} \text{R}\supset} \text{L}\forall \supset$$

2. Follows from 1 as in the proof of lemma 3.2. \square

Then we have:

Proposition 8.3 *The Contraction rule is admissible in G4i.*

Proof: We only have to add in the proof of admissibility of *Contraction* for **G4ip** the following cases:

$A = \forall xCx \supset B$: the derivation ends with

$$\frac{\frac{\Gamma, \forall xCx \supset B, \forall xCx \supset B \Rightarrow \forall xCx \quad \Gamma, \forall xCx \supset B, B \Rightarrow E}{\Gamma, \forall xCx \supset B, \forall xCx \supset B \Rightarrow E} \text{L}\forall \supset}{\Gamma, \forall xCx \supset B, \forall xCx \supset B \Rightarrow E} \text{L}\forall \supset$$

By inductive hypothesis the left premise gives $\Gamma, \forall xCx \supset B \Rightarrow \forall xCx$; by the (partial) inversion lemma 8.1 for $L\forall \supset$ and the inductive hypothesis the right premise gives $\Gamma, B \Rightarrow E$ and the conclusion follows by $L\forall \supset$.

$A = \exists xCx \supset B$: the derivation ends with

$$\frac{\frac{\Gamma, \exists xCx \supset B, \forall x(Cx \supset B) \Rightarrow E}{\Gamma, \exists xCx \supset B, \exists xCx \supset B \Rightarrow E} \text{L}\exists \supset}{\Gamma, \exists xCx \supset B, \exists xCx \supset B \Rightarrow E} \text{L}\exists \supset$$

By the inversion lemma for $L\exists \supset$ the premise gives $\Gamma, \forall x(Cx \supset B), \forall x(Cx \supset B) \Rightarrow E$, hence the conclusion follows by applying contraction on the lighter formula $\forall x(Cx \supset B)$ and then the $L\exists \supset$ rule.

The cases with $A = \forall xCx$ and $A = \exists xCx$ are dealt with as in [TS] or [D]. \square

Theorem 8.4 *The Cut rule is admissible in G4i.*

Proof: In the proof of Theorem 6.1 we consider the extra cases in which the cut formula A is principal in both premises and it is $\forall xCx \supset D$ or $\exists xCx \supset D$ or $\forall xCx$ or $\exists xCx$.

$A = \forall xCx \supset D$: the derivation

$$\frac{\frac{\frac{\Gamma, \forall xCx \Rightarrow D}{\Gamma \Rightarrow \forall xCx \supset D} \text{R}\supset \quad \frac{\frac{\Gamma', \forall xCx \supset D \Rightarrow \forall xCx \quad \Gamma', D \Rightarrow E}{\Gamma', \forall xCx \supset D \Rightarrow E} \text{L}\forall \supset}}{\Gamma, \Gamma' \Rightarrow E} \text{Cut}}{\Gamma, \Gamma' \Rightarrow E} \text{Cut}$$

is transformed into

$$\frac{\frac{\frac{\Gamma \Rightarrow \forall xCx \supset D \quad \Gamma', \forall xCx \supset D \Rightarrow \forall xCx}{\Gamma, \Gamma' \Rightarrow \forall xCx} \text{Cut}}{\Gamma, \Gamma, \Gamma' \Rightarrow D} \text{Cut} \quad \frac{\Gamma, \forall xCx \Rightarrow D}{\Gamma, \Gamma, \Gamma' \Rightarrow D} \text{Cut} \quad \Gamma', D \Rightarrow E}{\frac{\frac{\Gamma, \Gamma, \Gamma', \Gamma' \Rightarrow E}{\Gamma, \Gamma' \Rightarrow E} \text{Contr}}{\Gamma, \Gamma' \Rightarrow E} \text{Cut}} \text{Cut}$$

using one cut on A with right premise of smaller height and two cuts on lighter formulae.

$A = \exists xCx \supset D$: the derivation

$$\frac{\frac{\Gamma, \exists xCx \Rightarrow D}{\Gamma \Rightarrow \exists xCx \supset D} R\supset \quad \frac{\Gamma', \forall x(Cx \supset D) \Rightarrow E}{\Gamma', \exists xCx \supset D \Rightarrow E} L\exists\supset}{\Gamma, \Gamma' \Rightarrow E} Cut$$

is transformed, using the inversion lemma for $L\exists$, into

$$\frac{\frac{\Gamma, Cy \Rightarrow D}{\Gamma \Rightarrow Cy \supset D} R\supset \quad \frac{\Gamma \Rightarrow \forall x(Cx \supset D)}{\Gamma, \forall x(Cx \supset D) \Rightarrow E} R\forall}{\Gamma, \Gamma' \Rightarrow E} Cut$$

so the cut is replaced by a cut on a lighter formula.

The cases with $A = \forall xCx$ and $A = \exists xCx$ are dealt with as in [TS] or [D]. \square

9 Related work

Hudelmaier [H0], [H1], [H2] argues for the admissibility of *Contraction* and *Cut* in **G4ip** by a combination of induction on derivation height, on sequent weight and reduction to the result for **G3ip**. Dyckhoff [Dy1] argues similarly, as do the authors of [LSS] and also those of [TS] and [W]. The proof in [H2] contains an error [H3] found by Gordeev: the proof of admissibility in **G4ip** of the standard **G3i** rule for introduction of implication on the left with $A \supset B$ principal only works (but is only needed [S]) for atomic A .

The joint paper [PD] of the first author with Luis Pinto, on the relationship between the multisuccedent calculus **G4ip'** and Kripke models, contains a minor error (pointed out by Uwe Egly): the rules for the refutation calculus **CRIP** do not include one for dealing with formulae of the form $\perp \supset B$ in the antecedent. We take this opportunity of correcting this error: an appropriate rule is

$$\frac{\Gamma \not\Rightarrow \Delta}{\Gamma, \perp \supset B \not\Rightarrow \Delta}$$

The omission of a corresponding rule from **G4ip** and **G4ip'** is deliberate: it is an instance of the admissible rule of *Weakening*.

There is a semantic proof [MMO] by Miglioli *et al* of some related results. Rules slightly different from those of **G4ip** are used, with extra complexities arising from a primitive negation operator and with, for example, the invertible rule $L0\supset$ replaced by a non-invertible rule. Such proofs need substantial technical machinery about Kripke models, in contrast to the routine constructive nature of the present direct proof.

10 Conclusion

We have given a direct proof of admissibility of the usual structural rules for the sequent calculus **G4ip** and shown how to extend the proof when the calculus is extended with first-order syntax and with multiple succedents.

The problem originally arose from a question of conservativity of apartness over equality (defined as the negation of apartness) and of theories based on excess over theories based

on partial order (defined as the negation of excess), as formulated in [vP]. This problem led to the need to extend *Cut* admissibility from logical calculi to calculi with non-logical rules of inference in which the weights of the premises may be greater than the weight of the conclusion [N].

Here we have shown admissibility of the structural rules for the basic contraction-free systems of intuitionistic logic based on **G4ip**. In a sequel we will deal with extensions: non-logical rules for the theories of apartness and order, Dummett logic, lax logic and Kuroda logic.

11 Acknowledgments

We thank Jan von Plato for helpful suggestions and encouragement, and for raising the questions about conservativity that led to the need for the present work. We thank Jörg Hudelmaier and Helmut Schwichtenberg for useful discussions about the minor error in [H2].

References

- [AF] A. Avellone, M. Ferrari. *Almost duplication-free tableau calculi for propositional Lax logics*, **Theorem Proving with Analytic Tableaux and Related Methods**, Springer LNCS 1071, pp 48–65, 1996.
- [BB] B. Barras, S. Boutin *et al.* The *Coq* Proof Assistant Reference manual, Technical Report, INRIA 1996. Available from ftp.inria.fr.
- [BSS] U. Berger, H. Schwichtenberg, M. Seisenberger. *From proofs to programs in the MINLOG system*, Draft, January 1997.
- [D] A. G. Dragalin. “Mathematical Intuitionism”, *Translations of Mathematical Monographs*, vol. 67, American Mathematical Society, Providence, Rhode Island, 1988.
- [Dy1] R. Dyckhoff. *Contraction-free sequent calculi for intuitionistic logic*, *The Journal of Symbolic Logic*, vol. 57, no. 3, pp. 795–807, 1992.
- [Dy2] R. Dyckhoff. *Implementation of a decision procedure for intuitionistic propositional logic*, available from “<http://www-theory.dcs.st-and.ac.uk/~rd/software/>”.
- [Dy3] R. Dyckhoff. *Dragalin’s proofs of cut-admissibility for the intuitionistic sequent calculi **G3i** and **G3i’***, Research Report CS/97/8, Computer Science Division, St Andrews University, 1997, available from “<http://www-theory.dcs.st-and.ac.uk/~rd/publications/>”.
- [DP] R. Dyckhoff, L. Pinto. *Implementation of a counter-model construction procedure for intuitionistic propositional logic*, available from “<http://www-theory.dcs.st-and.ac.uk/~rd/software/>”.
- [H0] J. Hudelmaier. *A Prolog program for intuitionistic logic*, SNS-Bericht 88-28, University of Tübingen, 1988.
- [H1] J. Hudelmaier. *Bounds for cut elimination in intuitionistic propositional logic*, PhD thesis, University of Tübingen, 1989.
- [H2] J. Hudelmaier. *Bounds for cut elimination in intuitionistic propositional logic*, *Archive for Mathematical Logic*, vol. 31, pp. 331–354, 1992.
- [H3] J. Hudelmaier. *Personal communication*, 1994.
- [H4] J. Hudelmaier. *An $O(n \log n)$ -space decision procedure for intuitionistic propositional logic*, *Journal of Logic and Computation*, vol. 3, pp. 63–76, 1993.
- [LSS] P. Lincoln, A. Scedrov, N. Shankar. *Linearizing intuitionistic implication*, **Sixth annual IEEE symposium on Logic in Computer Science proceedings, Amsterdam 1991**, pp 51–62, 1991.
- [LWB] A. Heuerding, G. Jäger, S. Schwendimann, M. Seyfried. *Propositional logics on the computer*, **Theorem Proving with Analytic Tableaux and Related Methods**, Springer LNCS 918, pp 310–323, 1995.

- [M1] M. Mendler. *A timing refinement of intuitionistic proofs and its application to the timing analysis of combinational circuits*, **Theorem Proving with Analytic Tableaux and Related Methods**, Springer LNCS 1071, pp 261–277, 1996.
- [MMO] P. Miglioli, U. Moscato, M. Ornaghi. *Avoiding duplications in tableau systems for intuitionistic logic and Kuroda logic*, Logic Journal of the IGPL, vol. 5, no 1, pp. 145–167, 1997.
- [N] S. Negri. *Sequent calculus proof theory of intuitionistic apartness and order relations*, Archive for Mathematical Logic, to appear.
- [Pa] L. Paulson. “Isabelle: A generic theorem prover”, Springer LNCS 828, 1994.
- [PD] L. Pinto, R. Dyckhoff. *Loop-free construction of counter-models for intuitionistic propositional logic*, Symposia Gaussiana, Conf. A, Eds. Behara/Fritsch/Lintz, Walter de Gruyter & Co, Berlin, pp 225–232, 1995.
- [P] A. Pitts. *On an interpretation of second-order quantification in first-order intuitionistic propositional logic*, The Journal of Symbolic Logic, vol. 57, no. 1, pp. 33–52, 1992.
- [vP] J. von Plato. *Positive Heyting algebras*, manuscript, 1997.
- [S] H. Schwichtenberg. *Personal communication*, 1996.
- [Sto] A. Stoughton, *Porgi: a proof-or-refutation generator for intuitionistic propositional logic*, Proceedings of the CADE-13 workshop on *Proof search in type-theoretic languages*, ed. by D. Galmiche, pp 109-116, 1996.
- [Ten] N. Tennant, “Autologic”, Edinburgh University Press, 1992.
- [TS] A. S. Troelstra, H. Schwichtenberg. “Basic Proof Theory”, Cambridge University Press, 1996.
- [V] N. N. Vorob’ev. *A new algorithm for derivability in the constructive propositional calculus*, American Mathematical Society Translations, ser. 2, vol. 94 (1970), pp 37–71.
- [W] K. Weich, *Beweissuche in der intuitionistischen Logik*, Diplomarbeit, Institut für Mathematik, University of Munich, 1995.

SCHOOL OF MATHEMATICAL AND COMPUTATIONAL SCIENCES
 ST ANDREWS UNIVERSITY
 ST ANDREWS, FIFE KY16 9SS, SCOTLAND

E-mail: rd@dcs.st-and.ac.uk

DEPARTMENT OF PHILOSOPHY
 PL 24, UNIONINKATU 40 B
 00014 UNIVERSITY OF HELSINKI
 FINLAND

E-mail: negri@helsinki.fi